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public static int[][] transposeMatrix(int[][] m)

INDAIT
transposeMatrix ([[1, 2, 3], [4,5,6], [7,8,9]]) -> [[1, 4, 7], [2,5,8], [3,6,9]]
transposeMatrix ([[-1, 8], [7, -31]) -> [[-1, 7],[8, -3]]
transposeMatrix ([[5,3,2]]) -> [[5],[3],[2]]
transposeMatrix ([[1,2,3],[4,5,6]1]) -> [[1,4],[2,5],[3,6]]

transposeMatrix ([]) -> [] // the input is an array (of arrays) of size zero, which is also the
output.
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public static int[] shiftArrayCyclic(int[] array, int move, char direction)
INNAIT
shiftArrayCyclic ([1, 2, 3, 4, 5],-1, 'R') -> [2,3,4,5,1]
shiftArrayCyclic ([1, 2, 3, 4, 5], 1, 'R") -> [5,1,2,3,4]
shiftArrayCyclic ([1, 2, 3, 4, 5], 1, 'r') -> [1,2,3,4,5]
shiftArrayCyclic ([1, 2, 3, 4, 5], -2, 'g') -> [1,2,3,4,5]
shiftArrayCyclic ([1, 2, 3, 4, 5], 3, 'L') -> [4,5,1,2,3]
shiftArrayCyclic ([1, 2, 3, 4, 5], -3, 'L') -> [3,4,5,1,2]
shiftArrayCyclic ([0, 8, 9, 5, 6], 6, 'L') -> [8, 9, 5, 6,0]
shiftArrayCyclic (1,3, 'R") -> []
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public static int alternateSum(int[] array)

INNAIT
alternateSum([1, -2, 3, 4, 5]) -> 7 (1-(-2)+3-4+5)

alternateSum([1, 2,- 3, 4, 5]) -> 9 (2-(-3)+4)



alternateSum([]) -> 0 //if the array is empty, then the return value is 0
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public static int findPath(int[]J[] m, int i, intj, int k)

NI

findPath ([[1,0,0],[0,1,0],[0,0,1]],1,1,0) -> O
findPath ([[1,0,0],[0,1,0],[0,0,1]],1,1,1) -> 1
findPath ([[1,0,0],[0,1,0],[0,0,1]],1,1,2) -> 1
findPath ([[0,1,0,0],[0,1,1,0],[0,0,1,1],[1,0,0,1]],0,2,2) -> 1
findPath ([[1,1,0,0],[0,1,1,0],(0,0,1,1],[1,0,0,1]],0,2,1) -> O
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public static String findSortedSequence (String str)
(NTNNN2 "2 NOoY7 D 71 XD DW'DIN DI LV792 D'WIA JIX K7W 27 IN'W) XnalT
findSortedSequence (“to be or not to be”) -> "not to"
findSortedSequence ("my mind is an empty zoo”) -> "an empty zoo"
findSortedSequence ("")->""
findSortedSequence ("andy bought candy") -> "andy bought candy"

findSortedSequence ("life is not not not fair") -> "is not not not"

findSortedSequence ("art act") -> "act"
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public static boolean isAnagram(String a, String b)

NINNAIT
isAnagram("mothEr in law","hitlEr woman") -> true
isAnagram("ListeN","SileNt") -> true
isAnagram("software","jeans") -> false
isAnagram("Funeral”,"real Fun") -> true

isAnagram("Aa","aA") -> true

isAnagram("", ") -> true
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public static boolean isEditDistanceOne(String a, String b)

NINNAIT

isEditDistanceOne ("dog","god") -> false

isEditDistanceOne ("x","x") -> true



isEditDistanceOne ("main","man") -> true

isEditDistanceOne ("ab","cab") -> true
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